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In the derivation I don’t get why they can assume that dH=0. After they have assumed that dH=0 in justification 2.2 I get that 

Which I can illustrate like this
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And since we are in dH=0 we must be in the p,T-plane that is since H is constant we get   :
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What I don’t get is why we can use
  
For 
You use a condition that says that 

So that dH=0. But for  you can not have 

For example:
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Or:
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How can one use dH=0 as constrain and then afterwards use 

 In
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I would like an explanation of why we always must have 

When clearly the second last graph I made had positive slope for 
for  Hpw does this add up in the joule Thompson equation?
This is just an example for what I don’t think add up. In general I think it does not add to demand 


[bookmark: _GoBack]Can you explain how this works by illustrating in a graph? And in general just provide an explanation in addition as well?
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.12 The Joule-Thomson effect

Key point The Joule-Thomson effect is the change in temperature of a gas when it undergoes
isenthalpic expansion.

We can carry out a similar set of operations on the enthalpy, H= U+ pV. The quanti-
ties U, p, and V are all state functions; therefore H is also a state function and dH is an
exact differential. It turns out that H is a useful thermodynamic function when the
pressure is under our control: we saw a sign of that in the relation AH
We shall therefore regard H as a function of p and T, and adapt the argument in
Section 2.11 to find an expression for the variation of H with temper:
volume. As explained in the following Justification, we find that for
constant composition

dH=-uC,dp+C,dT

e at constant

where the Joule~Thomson coefficient, 1 (mu), is defined as
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Justification 2.2 The variation of enthalpy with pressu

erature

Because H is a function of p and T we can write, when these two quantities change
by an infinitesimal amount, that the enthalpy changes by

(9H) faHJ
dH=|— | dp+ dar (2.51)
Lop )rp \oT

The second partial derivative is Cy; our task here is to express (9H/dp) in terms of
recognizable quantities. If the emhalpy is constant, dH = 0 and this expression then
requires that

)
[B_H | dp=-C,dT  atconstant H
9 Jr

Division of both sides by dp then gives

oH oT
[3]{ - {917] B

Equation 2.49 now follows directly.
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